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Instructions:
1) All questions are compulsory.
i) Q. Nos. 1 to 5 are objective type each question is allotted 5 marks.
111) Internal options are given in Q. Nos. 6 to 26 each.
iv) Q. Nos. 6 to 10 carry 2 marks each and answer should be given in about
30 words.
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V) Q. Nos. 11 to 14 carry 3 marks each and answer should be given in about
75 words.

vi) Q. Nos. 15 to 21 carry 4 marks each and answer should be given in about
120 words.

vii) Q. Nos. 22 to 26 carry 5 marks each and answer should be given in about
150 words.

1)

) Res g - [1x5=5]
(i) TR ¥ 97a ¥ AT & T9ed W F9 TWRR 5y |

(a) 22 HA@AN 1948 (b) 26 IJFTAX 1947

(c) 26 IaTAR 1945 (d) 22 JTTA 1946
(i) TROR W a9 yamawen e asr sar 8-

(a) Wl b) wug

(c) rorifesT (d) S
(iii) wMa® Re™ e TRT g8

(a) 1950 (b) 1952

(c) 1857 (d) 1959

(iv) TTaaaarg &1 W= 8—
(a) uRadw 9vex By F gRT & WaT )
(b) uRad= wiftrgel a8F & W 2
() TREH I R § T B
(d) T oREdT | w9 B
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(V) HEHRI WISH BT 8-

(a) SIS HITS (b)  anRis e
(c) wroriferes WIS+ (d) Fufws wred
Choose the correct answer —
(1) When did the agreement related to merger of Kashmir into India was signed-
(a) 22 October 1948 {(by 26 October 1947
(c) 26 October 1945 (d) 22 October 1946
(i1) The most effective control on government is exerted by-
(a) Constitution (b) Parliament
(c) Politicians (d) Public
(111) Community Development Plan started in
(a) 1950 (b)y 1952
(c) 1957 (d) 1956
(1v) Naxalation believe that-
(a) change is possible only by armed revolution
(b) change is possible by peaceful means
(¢c) change is possible through fierce movement
(d) possible through change of regime
(v) A co-operative organization is-
(a) A Social Organisation  (b) Economic Organisation

(c) Political Organisation (d) Voluntary Organisation
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2) R wmt & gt i - | [1x5=5]

(i) ¥RG 9 &R & WHEAE N ... BT AR fBar)
(if) IFORISH J&T BT B RATT T .o A G

(ill) =HT IROMRIAT & W T, IR AN & 919 off |
(iv) Fga g Qa9 oo, DY TN ST B

Fill in the blanks-
(1) India has always opposed Imperalism and ------------ .
(i1) International Monetary Fund was established in ---=-e-e-nmx,
(iii) The problem of Chakma Refugees was between India and --------——— .
(iv) United Nations Day is celebrated on -=-e=semnm-x,
(v) The first pre-requisite of modemisation is -------===e=- .
3) g A SR faked - [1x5=5]

(i) 'PWG'&T Q1 9 &1 87
(i) Sfam™ B w9 B9 gE7
(iil) e GEar o9 gom ar?
(iv) YT T WY B WG 59 537
(v) 9RT ¥ s STRiETor Fe gar?

Write answer in one sentence —
(1) What is the full form of PWG'?
(11)) When was ASEAN established?

(ii1) When was the Tashkent Pact signed?
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(iv) When was United Nations Organisation establsihed?

(v) When did economic liberalisation took place in India.

Y/ AET B qg9 PG — [1x5=5]
(i) TFTaE Al <9 # fvare @ 2|

(ii) |/ BT woF RRER W 1985 H g1 |

(iil) TRT ¥ 7o ¥ & = w5} & ol wwAw @1 e @ 2

(iv) ARG 30 IJATER 1945 B WY T P G 7|

(v) 37RO | AR & @R F9 & 9 & |

Identify True/False statement.

(i) Naxalites believe in Mao Philosophy.

(ii) The first summit conference of "SAARC" was organised in the year 1985.

(iif) India has always maintained attitude of support towards its neighbouring

countries, from the beginning.
(iv) India became member of the United Nations on 30™ October 1945.

(v) Globalisation results in decrease in Job Opportunities.

HE SIS qEd — [1x5=5]
(@) @)

(i) & IS (a) oTOHIg

(i) & (b) 1972

(i) fRrre wwsiar ' (c) T TaEHR

(iv) Hgaa g FT GRuE (d) e

(v) dRas M & fmio (e) @R
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Match the correct pairs.

(A) (B)
(i) B.N.Rau (a) Kathmandu
(i1) SAARC (b)y 1972
(11) Shimla Pact (¢) Constitutional Advisor

(iv) Constitution of United Nations (d)  Globalisation

(v) Making of Global village (e)  Charter
RO AR & Hg 1 aRemw ey — [2]
Write any two consequences of Refugee problem.
s9ar/ OR
ARG fHoH & 58 < IR &1 Seorg P
Mention any two reasons responsible for the partition of India.
X T B F AN qaqr ff? [2]
What were the main recommendations of Dar Commission.
Fgar/ OR
fifdea s/t 9 B9 T ?
When was Sikkim formed as a separate state?
Bl TRR &r 87 [2]
What 1s Creamy layer?
ear/ OR
ARG G St SUR o1 S R ey T 87

Why Indian Constitution is called the bag of debt?
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14 df ey T B9 AR HEl gIATe [2]

When and where did the 14" Non-aligned summit hold?
Jgar/ OR
RE™ ASEAN &1 T T faRad v 30% |aw Ul 3 61 gl |
Write the full form of ASEAN and give the Number of its member countries.
HSAIq Tl R a7 [2]

Where is Kacchativu located?

aer@aT/ OR
ToRTet fagia @ar oar?
What was Gujral Doctrine?
e frafor A sraea@ar @ e AR [3]

Discuss on the need of making constitution.
seEar/ OR
e fem e 58 dF Rdwarll @1 fafeg)
Write any three features of Cabinet Mission Plan.
TRAYT WEE $ Eial @1 Seorg I | [3]
Mention about the sources of Indian Constitution.
gar/ OR
wreu Wiy & wewl & T fafg|

Write the names of members of Drafting Committee.
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YT T $ T o e
Write the objectives of United Nations.
gar/ OR
HIH TS W B W 6 AT B Y 2
What are the main six organs of United Nations?
e TRYE ¥ FEE o Ty
What is the main ﬁ-mctian of the Trusteeship Council.
Juar/ OR
SIS e ¥ SRER B GEEY |
Explain the Jurisdiction of the International Court of Justice.
e & Sgew SEEEy |
Explain the objectives of planning.
erar/ OR
T fadra uReg & st @1 ot S

Explam about the functions of National Development Council.
&A1 g & wIaT B T |
Explain the Effects of Regional Imbalance.
et/ OR
ANEE W S oY YT A |

Give the suggestions to Curb Linguism.
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41darg ¥ A= S & yasEd | [4]

Explain various forms of feminism.
s/ OR
ARa ¥ wafeois gguor & @ HRo &7
What are the causes of Environmental Pollution? -
Teftem A & we e fafeg| [4]
Write the main symptoms of Non-Aligned policy.
Fuar/ OR
ART ERT TEfrumar 3 Ay Jvd o1 F AR IR AR |
Write any four reasons as to why India adopted the policy of Non-alignment.
P & 96 W YS SAg | [4]
Throw light on the importance of 'SAARC'.
et/ OR
fiva ¥ & o fofag
Write the functions of the World Bank.
ARG U SIARY B 99 999 $ AR SR A | M
Give four reasons of tension between India and Bangladesh.
@/ OR
ARA U4 o9 & 4 gl &1 Ui Hiforg |

Describe the relationship between India and Russia.
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I~
b
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24)

smgfaaiever ot faward fofay )

Write the features of modernization.
Jerar / OR

IRi® IERITNU $ T IZS9Y &7

What is the objectives of economic liberalization.

ARG @l e Y @ o1 9w Reward Ry )

Write any five features of Indian foreign policy.
3ar / OR

flage & SR Bt R & R HIg |

Explain in detail the causes of the Cold War.

wred # AfgeT qefiaevvr 89 Sol T HeHl @1 aofF Hifv |

Describe the steps taken for the women enforcement in India.
3¥ar / OR

HEDRT AT P 1Q¥Nard orfayg |

Write the characteristics of co-operative movement.

wvd H ReRal ) v F Ufg SUT qargy |

Give five measures to eliminate the Iliteracy in India.
3erar/ OR

EFaTE Bl P $ SURl W Yo Gt o fiRag |

Write a short note on measures to curb regionalism.
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25) I BlerrPR AT B wegfrdl 1 o B | [5]

Explain the recommendations made by Kaka Kalelkar Commission.
sgar/ OR
AVSH ARNT P g iR ey |
Write the main recommendations of the Mandal Commission.
26) Y YiteA AR @Y g Rywiket @) s i | [51
Explain the main recommendations of State Re-organization Commission.
ear/ OR
FER TR W T wftr e forfg )

Write a short essay on Kashmir problem.

et i e shesfeakeoke o
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